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N, 1370812 £ 1171 | 2599152 + 1612
Nj,0 337069 £ 580 628761 & 793
Err 30.81+0.05 % | 33.07 £0.03%
el o 34.26 +0.07 % | 36.60 & 0.05 %
fo = %;29 1.112 +0.003 1.107 £ 0.004
T
er 5 42.62 £ 0.13 % | 42.23 +£0.06 %
brr 7.66 £0.03 % | 7.38+0.01 %
pleeg-down 598 +0.08% | 6.1940.05 %
non- 2.45+0.06 % | 2.224+0.02 %
B0 25.60 % 25.59 %
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0o 0.31
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057 00000000000 rm>h 7y, 0000000000O0OPALOL30OCLEOOO
O0DOPDGEI OO DALEPHOODODO ORef2 00000

|:| D Bhﬂo(%)
OPAL 25.89 £0.17 £ 0.29
ALEPH | 25.924 4+ 0.097 + 0.085

L3 25.05 £0.35 £0.50
CLEO 25.87 £0.12 £0.42
Belle 25.60 £0.04 £0.31

0 5.8: 000000 0.06GeV 00.10GeVOODOODODODDOODDOODOOODOOODOOODO (#°
000000000000000000000000)

item « threshold 7" momentum cut B AB
(GeV) (GeV) =B — B,y

standard 0.08 0.25 25.60% 0.0%
0.08 0.20 25.54% -0.06%
0.06 0.20 25.35% -0.25%
0.10 0.20 25.83% 0.23%
0.10 0.25 25.82% 0.22%
0.10 0.30 25.77% 0.17%

U 59 00000000000000D0000DODOOODOO

item B, +(0OO00O) AB
= B — Byey

od 25.60+0.04% 0.0 %

Exp. Dep. 0.19%
exp 9 25.73+0.17% 0.13%
exp 11 25.66+0.13% 0.06%
exp 13 25.654+0.11% 0.05%
exp 15 25.684+0.10% 0.08%
exp 17 25.57+0.11% —0.03%
exp 19 25.5240.07% —0.08%
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6.1.3 U00O0OOOOOOOObOOOd
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uboboogobooouobogbooogn

o« 0000000 -00000000
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060 700000000000

061 »~a/°00000000000000000000O00000O0OO -00000000
(=K 7%, O0r =h (nm°)r,) 000 777~ 0000000 (non-7) 000000 OO Onon-
000000000000 00D0000 (¢ 00000000000 62000000000
0000000000000 non-a000000000000000O0OODOOO

Bin M? Knv, hnz®v; non-t | Bin M?2 , Kn%,; hnnv, non-t
No. ((GeV/c*)?) (%) (%) (%) | No. ((GeV/c*)?) (%) (%) (%)
1 0.088 15.8 57.7 22.4 32 1.625 0.5 3.1 7.3
2 0.125 14.1 40.7 16.3 33 1.675 0.4 2.3 8.6
3 0.175 10.8 28.3 12.8 34 1.725 0.6 3.3 9.7
4 0.225 9.2 20.6 9.8 35 1.775 0.4 2.4 14.4
5 0.275 8.1 15.4 6.8 36 1.825 0.5 3.7 13.6
6 0.325 6.7 10.8 4.6 37 1.875 0.5 4.5 15.4
7 0.375 5.3 8.1 2.7 38 1.925 0.6 5.1 16.7
8 0.425 3.7 6.4 1.8 39 1.975 1.0 5.5 22.7
9 0.475 2.4 5.4 1.4 40 2.025 0.4 3.8 26.9
10 0.525 1.3 4.9 1.0 41 2.075 0.8 7.1 32.9
11 0.575 0.6 4.9 0.9 42 2.125 1.2 8.0 40.8
12 0.625 0.4 4.9 1.0 43 2.175 1.0 6.5 48.0
13 0.675 0.3 5.0 1.1 44 2.225 1.0 8.7 53.2
14 0.725 0.3 5.1 1.3 45 2.275 1.1 11.7 61.5
15 0.775 0.3 5.3 1.5 46 2.325 0.5 7.1 74.9
16 0.825 0.4 5.2 1.8 47 2.375 0.7 8.1 84.7
17 0.875 0.4 5.4 2.1 48 2.425 0.3 15.8 78.8
18 0.925 0.4 5.3 2.6 49 2.475 0.6 15.7 7R.7
19 0.975 0.4 5.1 3.0 50 2.525 0.3 4.5 71.1
20 1.025 0.4 4.8 3.3 51 2.575 —0.5 9.2 73.7
21 1.075 0.4 4.3 3.8 52 2.625 —-0.9 7.2 69.8
22 1.125 0.5 4.3 3.7 53 2.675 0.0 9.8 77.9
23 1.175 0.5 4.1 4.3 54 2.725 0.0 4.6 71.5
24 1.225 0.4 3.8 4.2 55 2.775 0.8 4.6 74.4
25 1.275 0.4 3.7 4.7 56 2.825 0.8 8.2 69.2
26 1.325 0.4 3.2 4.9 57 2.875 1.1 20.5 83.2
27 1.375 0.5 3.1 5.0 58 2.925 0.0 5.3 63.2
28 1.425 0.3 3.8 5.4 59 2.975 0.0 0.5 63.2
29 1.475 0.5 2.6 5.6 60 3.025 —-1.8 1.3 76.1
30 1.525 0.4 3.7 6.7 61 3.075 0.0 8.9 60.2
31 1.575 0.4 3.7 6.9 62 3.125 0.0 10.1 56.2
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060 200000000000

062 r—r 'y, 000~ 2000002000 (+¥)0000000D0)

Bin M2, ~+%% 0000 o0ooo0O0 Bin M2, ~<¥ 0000 000C0
s _as, _ _ s _zf _4 _4

No. ((GeV/c%)?) (1073) (1073) (1073) No. ((GeV/c2)?) (10—%) (10—%) (10—%)

T 0.088 10.3 5.0 11 32 1.625 331.93 11.43 2.33

2 0.125 64.5 3.0 4.6 33 1.675 298.43 9.26 2.12

3 0.175 123.2 3.0 3.8 34 1.725 263.91 8.89 2.54

4 0.225 191.2 3.4 3.8 35 1.775 198.85 8.09 3.16

5 0.275 284.3 4.3 3.6 36 1.825 176.86 6.14 2.85

6 0.325 443.5 5.9 3.8 37 1.875 145.50 5.35 2.74

7 0.375 690.8 8.6 3.8 38 1.925 110.07 4.61 2.11

8 0.425 1113.9 13.3 4.0 39 1.975 81.40 3.76 1.76

9 0.475 1781.8 20.8 4.6 40 2.025 64.57 3.45 1.78
10 0.525 2716.5 31.1 4.1 41 2.075 43.10 2.76 1.87
11 0.575 3260.2 37.2 3.8 42 2.125 27.46 2.53 1.93
12 0.625 2765.4 31.7 3.1 43 2.175 20.27 2.17 2.11
13 0.675 1879.6 21.9 2.3 44 2.225 14.58 2.03 2.17
14 0.725 1222.8 14.6 1.8 45 2.275 8.89 1.82 2.21
15 0.775 816.7 10.1 1.3 46 2.325 3.77 1.58 1.98
16 0.825 590.1 7.7 1.1 47 2.375 0.31 1.42 1.45
17 0.875 424.4 5.9 1.0 48 2.425 —0.69 1.34 1.18
18 0.925 324.9 4.9 0.8 49 2.475 0.07 1.26 1.27
19 0.975 259.1 4.2 0.9 50 2.525 1.52 1.05 1.41
20 1.025 202.0 3.6 0.6 51 2.575 2.62 0.97 1.55
21 1.075 175.7 3.3 0.8 52 2.625 3.64 1.01 1.81
22 1.125 147.9 3.0 0.5 53 2.675 4.17 2.95 1.89
23 1.175 122.6 2.7 0.7 54 2.725 3.85 1.12 1.66
24 1.225 110.6 2.5 0.4 55 2.775 3.16 1.32 1.30
25 1.275 97.3 2.3 0.5 56 2.825 3.44 0.99 1.37
26 1.325 82.1 2.1 0.4 57 2.875 1.96 0.60 0.76
27 1.375 74.0 1.9 0.4 58 2.925 1.86 0.61 0.71
28 1.425 63.2 1.7 0.4 59 2.975 1.55 0.43 0.57
29 1.475 55.7 1.5 0.3 60 3.025 0.89 0.42 0.32
30 1.525 49.3 1.4 0.4 61 3.075 0.32 0.11 0.12
31 1.575 43.2 1.3 0.3 62 3.125 0.04 0.01 0.01

A;0000000000000000O0 (¢)0b00000000000000000000

WZE:&j (6.3)

000000000000000000000000000 17%000000000
000 M2,0000000000000000M2,00000000« 00000 #°
000000 CsI(TH)00000000000000000000000000
000000000000000000000000 M2,000000000000
0 0.005 (GeV/c?)?200000000 0.030 (GeV/c3)2000000000000000
AM? =0.050 (GeV/c?)?0000000000000000000000000000
00000000000000000000000000000000000000

6.2.3 7 00000000000

000000000000 »x'000000000000dN/dsO0O 66000000
gbsO s:Mi,WODDDDDDDDDDDDD 620 000000000000000O
0000000000 32x10'0000000 (1/N-dN/ds)DODOOOOOO0OOO
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6.3 Breit-Wigner 10000000000 ODOOOOO

00000000000 2000(066)000p00000 ¢/(1450) 0000000
00000s~25 (GeV/2)200000 dip0 Op/(1450) O p”(1700) 00000000
0000000000000000 pdp0p 0000000000000000000
00 OBreit-Wigner 00000 x20000 0000

x?00000000000000000000000000000000000000
y’00000000000 X00000000000000000

X* =) = fsi00) (X (4™ = f(sji ) (6.4)
2]
0000 ¢ 03000000 0000 (06.2)00i0000000000
si=M?,000(X );000000 X000000006230000000000
00000e00000D00O0O00O0O000O0DO0D0DO0OOOOO0OO00O00OOOO
000000000000 f(s;)000000 «00000000000000000
00X200000000000000000 «0000000000

000000 f(s;e) 00

dN s \2 25\ B2 (s)
= a1 (14 22) 26 g 6.5
fo) =G =a(1-5) (14 2) el (6:5)
000000000A0DD0O0ODOOO0ODOOOOOB-(s)0r 7. 000000000O0OO
O0F(s) 000000000000 00O0ODOOO0OO00O0O00 Fr(s)ODOOOooooOOo
Breit-Wigner 00 BW;(i=p, p/, p/) 00000

1

Fr(s) = T3 8+

(BW, + BBW , + ’YBWpH) (6.6)
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060 700000000000

063~ 2000000 (0 62)00000 pi; DOOOO 0020000000000
ggog

~.

pij |t J pij |t ] pij |t J pij |t ] Pij

J
2 0.219 | 20 29 0.002 | 24 60 0.002 | 31 44 0.003 | 37 38 0.353
4 0.004 | 20 46 0.002 | 24 61 0.002 | 31 48 0.002 | 37 41 0.020
14 0.002 | 20 47 0.002 | 24 62 0.002 | 31 49 0.003 | 37 42 0.100
) 0.003 | 21 23 0.128 | 25 28 0.083 | 32 35 0.061 | 37 43 0.043
14 0.002 | 21 26 0.011 | 25 30 0.007 | 32 36 0.104 | 37 50 0.003
) 0.006 | 21 28 0.003 | 25 31 0.002 | 32 39 0.007 | 37 51 0.005
15 0.002 | 21 31 0.002 | 25 36 0.002 | 32 40 0.003 | 37 52 0.003
6 0.019 | 21 42 0.002 | 25 37 0.003 | 32 42 0.002 | 37 59 0.002
14 0.002 | 21 43 0.002 | 25 42 0.002 | 32 51 0.002 | 37 60 0.003
7 0.029 | 22 24 0.101 | 26 29 0.105 | 32 52 0.002 | 37 61 0.003
8 0.041 | 22 25 0.014 | 26 32 0.011 | 33 34 0.022 | 37 62 0.003
9 0.051 | 22 27 0.013 | 26 35 0.002 | 33 37 0.137 | 38 39 0.397
10 0.063 | 22 30 0.003 | 26 39 0.003 | 33 38 0.010 | 38 43 0.090
12 0.004 | 22 40 0.002 | 26 46 0.002 | 33 41 0.010 | 38 44 0.051
11 0.077 | 22 54 0.002 | 27 30 0.127 | 33 42 0.002 | 38 49 0.004
9 13 0.004 | 22 55 0.002 | 27 33 0.011 | 33 43 0.002 | 38 50 0.007
10 12 0.090 | 22 56 0.002 | 27 37 0.002 | 33 44 0.002 | 38 51 0.006
10 14 0.004 | 22 57 0.002 | 27 38 0.002 | 33 53 0.002 | 38 52 0.005
11 13 0.095 | 22 538 0.002 | 28 31 0.140 | 33 54 0.003 | 38 53 0.004
11 15 0.006 | 22 59 0.002 | 28 34 0.012 | 33 55 0.002 | 38 54 0.003
12 14 0.102 | 22 60 0.002 | 28 39 0.002 | 33 56 0.002 | 38 55 0.002
1216 0.006 | 22 61 0.002 | 28 42 0.003 | 34 35 0.092 | 39 40 0.458
13 15 0.113 | 22 62 0.002 | 29 32 0.152 | 34 38 0.117 | 39 44 0.064
13 17 0.007 | 23 25 0.072 | 29 33 0.006 | 34 39 0.043 | 39 45 0.064
14 16 0.121 | 23 26 0.037 | 29 35 0.008 | 34 42 0.002 | 39 46 0.017
14 18 0.009 | 23 28 0.015 | 29 36 0.005 | 34 43 0.002 | 39 51 0.004
14 21 0.002 | 23 38 0.002 | 29 40 0.003 | 34 45 0.002 | 39 52 0.007
15 17 0.128 | 23 49 0.002 | 29 44 0.005 | 34 46 0.002 | 39 53 0.006
15 19 0.010 | 23 50 0.002 | 29 45 0.003 | 35 36 0.185 | 39 54 0.005
16 18 0.141 | 24 26 0.039 | 30 33 0.130 | 35 39 0.099 | 39 55 0.003
16 20 0.006 | 24 27 0.063 | 30 34 0.037 | 35 40 0.068 | 40 41 0.484
17 19 0.151 | 24 29 0.007 | 30 37 0.010 | 35 45 0.003 | 40 45 0.028
17 21 0.006 | 24 30 0.002 | 30 39 0.002 | 35 46 0.005 | 40 46 0.067
18 20 0.144 | 24 35 0.002 | 30 42 0.005 | 35 47 0.005 | 40 47 0.041
18 23 0.003 | 24 46 0.002 | 30 46 0.005 | 35 48 0.002 | 40 48 0.007
18 27 0.002 | 24 55 0.002 | 30 47 0.004 | 36 37 0.308 | 40 55 0.003
19 21 0.140 | 24 56 0.002 | 31 34 0.107 | 36 40 0.066 | 40 56 0.004
19 26 0.002 | 24 57 0.002 | 31 35 0.080 | 36 41 0.088 | 40 57 0.005
20 22 0.147 | 24 58 0.002 | 31 38 0.009 | 36 42 0.009 | 40 58 0.005
20 25 0.007 | 24 59 0.002 | 31 40 0.004 | 36 46 0.003 | 40 59 0.005

© 00 00 O ULk = W W N ==
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i Pij i Pij i Pij i Pij
40 60 0.006 44 62 0.003 52 55 0.537 57 60 0.979
40 61 0.006 45 46 0.712 52 56 0.382 57 61 0.973
40 62 0.006 45 47 0.187 52 57 0.275 57 62 0.971
41 42 0.558 45 54 0.034 52 58 0.203 58 59 0.998
41 47 0.070 45 55 0.047 52 99 0.157 58 60 0.994
41 48 0.062 45 56 0.051 52 60 0.128 58 61 0.991
41 49 0.024 45 57 0.050 52 61 0.112 58 62 0.989
41 57 0.004 45 58 0.049 52 62 0.104 59 60 0.999
41 58 0.006 45 59 0.048 53 54 0.939 59 61 0.998
41 59 0.007 45 60 0.047 53 55 0.815 59 62 0.997
41 60 0.008 45 61 0.047 53 56 0.689 60 61 1.000
41 61 0.008 45 62 0.046 53 o7 0.590 60 62 0.999
41 62 0.008 46 47 0.756 53 58 0.520 61 62 1.000
42 43 0.611 46 48 0.266 53 99 0.472
42 48 0.032 46 56 0.021 53 60 0.441
42 49 0.057 46 57 0.039 53 61 0.423
42 50 0.040 46 58 0.050 53 62 0.414
42 51 0.019 46 59 0.056 54 55 0.963
42 52 0.006 46 60 0.060 54 56 0.890
43 44 0.654 46 61 0.062 54 57 0.819
43 45 0.058 46 62 0.063 54 58 0.763
43 50 0.048 47 48 0.787 54 59 0.723
43 51 0.064 47 49 0.330 54 60 0.696
43 52 0.053 48 49 0.806 54 61 0.679
43 53 0.034 48 50 0.418 54 62 0.672
43 54 0.016 48 51 0.066 55 96 0.980
43 55 0.003 49 50 0.848 55 o7 0.942
44 45 0.696 49 51 0.534 55 58 0.906
44 46 0.103 49 52 0.203 55 59 0.877
44 51 0.012 50 51 0.885 55 60 0.857
44 52 0.048 50 52 0.613 55 61 0.845
44 53 0.054 50 53 0.302 55 62 0.839
44 54 0.045 50 54 0.051 56 57 0.990
44 55 0.034 51 52 0.900 56 58 0.972
44 56 0.023 51 53 0.662 56 59 0.954
44 57 0.016 51 54 0.401 56 60 0.941
44 58 0.010 51 55 0.191 56 61 0.932
44 59 0.007 51 56 0.049 56 62 0.928
44 60 0.004 52 53 0.916 57 58 0.995
44 61 0.003 52 54 0.731 57 59 0.987
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060 700000000000

0000000000 000000 pO000000 Y000 000000000
000000000000 400000000 (B=|8le®0y=|yle)000000
0000 |80y 00000 ¢s0¢, 000000000

Breit-Wigner 0 00 0 Gounaris-Sakurai (GS) 00 0 Blooooooooooood
000000000 Breit-Wigner 00000 0000000000000 0000O0
00000000000000000

M? +d- MT;
BWES = J v 6.7
(17— 5) + 1(5) — iVaTa(o) 67
goooooo
0000000000 00DO0O0TIs)DOOoOooooooooo
M2 k(s) \*
Li(s) =T; [ — 6.8
0=r (%) (o) 05

000 k(s) = 3v58.(s) 00x 2 000000000000 00000dh/ds|y. =

h@ﬁﬂ@ﬁmﬁ»“—@Mﬁ”}+@me4DDDDDDf@ﬂ]M@DDDDDD
oooood

2
f(s) = Dkizﬂ[W@HM@—hwﬁD+Mﬁ—@WMﬁ)%¥A@](6%
_ 2k(s), 5+ 2k(s)
h(s) = R In o (6.10)
3 m? M; + 2k(M?) M, m2M,
4= Ek?(M})l" 2y - 2rk(M2)  wk3(M2) (6.11)

000 d0O s=00 |BW(0)|=10000000000000

(6.5)0000000000p0p 0 p'00000000O0O0OO M; 0 O ;00000
000000 |80y 000 ¢g0¢, 00000000 AO0O0O0 11000000000
gooo

6.3.1 0000 p0py0py/00000000O0DOO0

00002000 (066000000000 11000000 (Aoat)00000
00000000000

0000000000000000 000000 x2/(dof)0 x2/(d.o.f) =55/5100
0000000000000 000000 64020000000 6400000000
00002000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000O0+A°00000000 PDGOOOOOOOOOOOOOO
0000000000000000000000000000000A(OO00000 AQ
00)0 +200000000000000000000000000000000@810
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060 200000000000

0 6.4 7= — 77y, 0000 0p(770)0 p'(1450)0 p"(1700) O 0 O 0 O Breit-Wigner 0 O
(Gounaris-Sakurai model) 0 DO OM?2 , 0000000000200000000000000
00000003000 ¢,0 ixD0OO00000000000000000000O00000000
20000000000000000COOOOOCOOOOOOOOOOOOO0OOOOO0O00OO
000000000 oopoooo0ooo0ooooo0o0oooooo

Parameter Fit result Fit result

(all free) (fixed ¢)
M,_ (MeV/c?) 774.6 £0.24+0.3 774.3£0.24+0.3
o (MeV) 150.6 £0.3 £0.5 150.0 £ 0.3 £0.5
M, (MeV/c?) 1336 £ 12 4+ 23 1436 £ 15 +£23
Ly (MeV) 471 £29 £ 21 553 £31+21
1B 0.090 £ 0.009 £ 0.013 | 0.161 £ 0.020 £ 0.013
¢p (degree) 123.7£5.0£7.0 149.1£24£7.0
My (MeV/c?) 1600 £ 13 +£4 1804 £16 £4
Ly (MeV) 255 £19+79 567 £81 £ 79
1 0.062 4 0.015 £ 0.015 | 0.136 £ 0.024 4+ 0.015
¢y (degree) —64.1+79 [0]
x?%/d.o.f 55/51 94/52

+TloeUOUOODODODOOOOOOpOO0ODOODOOOO3IMeVOUOODOODODDDODOODOO
000000000000 00O00O0O0DO0O0ODOO0O0OUOU PooUUoUUoo
udn

0000000000000000000000000 (error matrix) D0 6.50 000
gbboobobobboobbobbbooboooooobobbobod

0640300000¢,00°0000000000000000000000¢,0 0°
0000000000000 0000000000000000000¢,00°00000
00000000000000 MyOl, 000 100MeVO M,»OT,» 000 200MeV O
00000000000000

6.3.2 UU0O-~000O0O0DODOO

000 700000 (ALEFHOCLEO)ODOOOOD 660000000000000
0000000000000 ALEPHOOOODOOO0O0O0000000000000
0202000000000 (06.602000300)000000000000 p00O0
M, = 774.6 £ 0.2MeV/c> 0 0 T', = 150.6 + 0.3MeV O ALEPH*! 0 CLEOM 00O
0000000000

0000000000000 00000000000000000000000000

00000 x*/(do.f) 0000000000000 00O0ONONDDOONON0ONO00NODOOODO0O
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060 »x°00000000000

Ue6s: obobooooooooobobobbooooobbbobobon

| || M, Ly g 5 My Ly gl by My Ly |

M, 1 035 -0.17 -0.60 -0.46 -0.06 0.11 -0.29 -0.23 0.04
r, 1 —0.35 0.10 -0.18 -0.40 -0.09 -0.15 -0.17 -0.28
B 1 0.13 0.72 082 0.61 0.31 0.62 0.86
o3 1 0.55 —0.31 -0.05 0.39 045 —0.14
M, 1 056 0.03 0.76 0.83 0.60
Ly 1 0.36 0.27 0.40 0.82
¥ 1 -0.52 -0.11 0.44
by 1 0.89 0.32
M, 1 0.55
Ly 1

0 6.6: 770000 200000000 000p(770)0p'(1450)0p"(1700) 000000000
000000000 ALEPHOORIOCLEOD DMl oooooooooooooonooon
00000000000 00000000000000000000—0000000

Parameter This work This work ALEPH(7) CLEO(7)
(all free) (fixed My, T g, by)

M,~ (MeV/2) | 7746 +0.2 773.9 £0.1 7755 £0.7 | 7751 £0.6

L, (MeV) 150.6 +=0.3 150.8 £0.3 149.0 £1.2 150.4 +£1.2

M, (MeV/c?) | 1336 +12 1395 +4 1328 +15 1406 + 13

Ly (MeV) 471 +£29 411 +£9 468 +41 455 + 34

18] 0.090 +0.009 0.095 +0.02 0.120 +0.008 | 0.121 +0.009

$p (degree) 123.7 £5.0 161 £+2.0 153 £7 —

My (MeV/c?) | 1600 % 13 [1713] [1713] .

Ly (MeV) 255 +19 [235] [235] —

Y] 0.062 4+ 0.015 0.045 £+ 0.002 0.023 4+ 0.008 | 0.032 4 0.009

¢y (degree) —64.1 £7.9 [0] [0] —

¥2/(d.o.f) 55 / 51 134/54 119 / 110 22.9/23

Reference [29] [18]
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O 6.7: p(770)0p'(1450)0p"(1700) 00 0000000000000 00 Oete” »ata~ 00O
0 (CMD-200)00000000000000000000000000000000 O0CMD-2

0000 p°0p°0p° 0000000

Parameter This work This work CMD-2(ete™)
(all free) (fixed Ty )
M,~ (MeV/c®) | 7746 £0.2 | 773.9 £0.1 | 7733 0.6
Fp— (MeV) 150.6 £0.3 150.8 +0.3 145.2 £13
M,y (MeV/CQ) 1336 +12 1395 +5 1337 £35
I'y (MeV) 471 +£29 411 £10 569 + 81
18] 0.090 +0.009 | 0.095 £0.003 | 0.123 £0.011
¢p (degree) 123.7 £5.0 160.8 +2.4 139.4 +6.5
My (MeV/e2) | 1600 + 13 1712 + 8 1713 + 15
T, (MeV) 255 + 19 [235] [235]
|7Y] 0.062 +0.015 | 0.045+0.003 | 0.048 4 0.008
¢y (degree) —64.1 +7.9 0] [0]
¥2/(d.o.f) 55 / 51 134/53 —
Reference

030 0000000000 p"00000000000000000000

00000 My = (1600 + 13) MeVOT v = (255 + 19) MeV 0 ¢, = (—64.1 + 7.9) deg.
0000

6.3.3 efe—rtr 00000000

0007 -7 ', 00000000000000000 ete »atr O xtr 0O
00 (CMD-2)000000000000000 6700000030000000000
00 T»0 ¢,0 CMD-200000000000000000000000000000
000p00000 M,00T,00p 0,,°0000000000000C,0 ¢,00
000000000M.0 |y 000000000000000

6.3.4 DUUDOOOLOOOO

goooooooobobooon

00001000007 =7 'y, 0000000000 0M2,000 Breit-Wigner
00 (GSOOD0)000000000 p(700)0p'(1450) 000 p"(1700) 00000000
0000000000000030000p0,0p,"00000000000000000
000000000000000000p/(1450)0 p"(1700) 0000000000000

0 67000 ete” D0 O00DDDODODDDO ixOODODODODO
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64 00000000 (|F]P)

gooboboobooogobobooooboboobboooobbooooobon

goooboboooooboobobooobooooooobooooooobooobo

1 dN
00000 —-0000000000 (|F(s)?) 000000000 (v-)00000
S

0oobssag
-1
m? B s \? 2s 1 dN
o= z m 1-— 1+ — —— 12
° 67F|Vud|25EW<Be> ( m?) (er?)] N ds (612)
B (s)
v (s) = =2 Fels)P (6.13)
T
0000B8_(s)0 r A'0000000000000000
Mpt+ — My 2 Myt + My 2
B_(M) :\/<1_%> (1_%> (6.14)

00000000 (|F(s)?) 000000000 (v.)006.130000000000
00000000000000000000000000000000 (|F(s))?)000

gogboooboooo

1 dN
00000000 +—-0000000000000000 |F(s)?00 670 0 6.8

DDDDDDDDDDD|E@WDDDD6ﬁmmmmmmﬁjmmcummmmmmﬂﬁ
000 6800 ALEPHOODOO Plonooooon

D 6700 6.800000000000000D00000D0O000O00 6900000
6.900 OBelle0 00 CLEODALEPHODOOOO Bele D0 0DO0OD 000000000
00000000 690000000000000000D000000000 ()0
D0000O00 0222GeV/?000000000000000 BelleD CLEOOO O
00000000000000000000 ALEPHOOOOOOOOOOOOOOOO
D00000000000000000
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® Belle
0 CLEO
— G&S Fit

(Pe770) * Paasoy + Pazony)

10 F

2
F

1 1.52
2\2
(M TEiTCO) (GeVic?)

0 0.5

0677 —r 'y, 00000000000000 |FW|2DDDDDDDDD Belle O O
O000000000000 CLEOMODODO0OOBelle00D00DDOOOOODOO
0000000000 000000000000000 p(770)0 p/(1450)0 p"(1700) O
0 O Breit-Wigner 0 O ( Gounaris-SakuraiJ 00 )(O0O 6.3000)0 00000000
goddoooooooooobboodan
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060 700000000000

068 7 —7 ., 00000000000000 |F200

Bin MZ [F,? 0000 00040 Bin MZ [F,? 0000 00040
No. (GeV/c?)? No. (GeV/c?)?
1 0.088 1.83 0.881 0.717 32 1.625 0.69 0.024 0.005
2 0.125 2.40 0.111 0.171 33 1.675 0.65 0.020 0.005
3 0.175 2.69 0.065 0.084 34 1.725 0.61 0.020 0.006
4 0.225 3.32 0.059 0.065 35 1.775 0.48 0.020 0.008
5 0.275 4.36 0.066 0.055 36 1.825 0.45 0.016 0.007
6 0.325 6.30 0.084 0.054 37 1.875 0.40 0.015 0.007
7 0.375 9.34 0.117 0.051 38 1.925 0.32 0.013 0.006
8 0.425 14.58 0.174 0.052 39 1.975 0.25 0.012 0.005
9 0.475 22.83 0.266 0.059 40 2.025 0.22 0.011 0.006
10 0.525 34.34 0.394 0.051 41 2.075 0.15 0.010 0.007
11 0.575 40.93 0.467 0.047 42 2.125 0.11 0.010 0.008
12 0.625 34.66 0.397 0.039 43 2.175 0.09 0.009 0.009
13 0.675 23.61 0.275 0.030 44 2.225 0.07 0.009 0.010
14 0.725 15.45 0.184 0.023 45 2.275 0.05 0.009 0.011
15 0.775 10.41 0.129 0.017 46 2.325 0.02 0.009 0.011
16 0.825 7.61 0.099 0.014 47 2.375 0.00 0.009 0.009
17 0.875 5.55 0.077 0.013 48 2.425 0.00 0.009 0.008
18 0.925 4.32 0.065 0.011 49 2.475 0.00 0.010 0.010
19 0.975 3.51 0.056 0.012 50 2.525 0.01 0.010 0.013
20 1.025 2.79 0.049 0.009 51 2.575 0.03 0.010 0.017
21 1.075 2.49 0.046 0.011 52 2.625 0.05 0.013 0.023
22 1.125 2.15 0.043 0.007 53 2.675 0.06 0.045 0.029
23 1.175 1.83 0.040 0.010 54 2.725 0.07 0.021 0.031
24 1.225 1.70 0.038 0.006 55 2.775 0.07 0.031 0.031
25 1.275 1.54 0.037 0.008 56 2.825 0.11 0.030 0.042
26 1.325 1.34 0.035 0.007 57 2.875 0.08 0.025 0.032
27 1.375 1.25 0.033 0.006 58 2.925 0.11 0.037 0.043
28 1.425 1.11 0.030 0.007 59 2.975 0.15 0.042 0.056
29 1.475 1.02 0.027 0.005 60 3.025 0.16 0.075 0.059
30 1.525 0.94 0.027 0.007 61 3.075 0.14 0.049 0.053
31 1.575 0.86 0.027 0.007 62 3.125 0.11 0.031 0.039
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070 0O00000O0OO00O0O0O000000
bbb tdle, 000

7.1 UDOooooboon

200000000000000000000000000000000000000
0000000000000000000 «***°000000 «*°00000xx0
0000000000007 -7 ", 000000006"000000000000
00000000000

0000000000007 «°000000000006"000000000

71.1 o000

000000000002000 (1/N)(dN/ds)0 0000 »~ 2000000000

Do 00 O00D0000O000 0320
-1
m2 B s \?2 2s 1 dN
B — T L 1— = 14+ == — 1
v-{e) 67| Vaal>SEW ( 3e> ( m?) ( +m3> Na Y

000 m,0 70000000V, 000000000008gw00000000O0RB, 0O
T —e v, 0 B0 7=y, 0000000000

00000 (2260)000000000000000000000000O0 »w00000
00000e"00000000000000000

a2 My (s
a)” = ?0/47%2 %K(s)ds (7.2)
_ ﬁ. i§ﬁmemi (7.3)
>

D00 As;0D00000000 As; =0.050 (GeV/c?)20n; 0 00000000000
OOO0DO0OwW;0:000000000000000

0 (7.1)0 (1/N)(dN/ds) D00 0D000000000000000000000000
000000000000 DO0000000000D00D0D0N0N0Do0Don 7.10000
m,0Vyq0B,00 PDG(2004)2 000000 00000000 Sgw O O 01.023340.0006
000000000000 00000000000000000D00D00000DoOO
oooooogoon bL3ig
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070 000000000000000O000O00D00O00000 «p"000

000000 Byre000O
B0 = (25.42 +0.11)% (7.5)

0000000000000 0D (040)0000 ALEPHO B,000000000O
Ref 0 0000000000000 000000O000O00ODOOOOOOOOO
uon

071 0000000006,"0000000

Source Value Relative error Aaz7r Reference
(%) (10719

Sew 1.0233 = 0.0006 0.06 + 0.32 ]33]

Vid 0.9734 + 0.0008 0.08 + .42 [28]

B. (17.84 + 0.06)% 0.34 + 1.82 [28]

B0 (25.42 + 0.11)% 0.43 + 2.30

Total external + 3.0

a," 000 Aep" 000000 X;; 0000000000 OOOODOODO

Aal™ =Y Wi Xi;W; (7.6)
(¥
Ub0e,"000boooooon Vs = 0.50-1.80 GeV/c2DDDDDDDDDDD

ggbboogooobbobboboboboobbooboboobooobobobooobooon
goooboogn

7.1.2 0J00O0OO04OOooOO

a,m 0O O0O0O000 @"00D000O0D0O000ODOO0

a’" 0000000000000000000000000000000000 (00
0)0000000000000000000000 7.100000000000000
00000 B,,,00000 (AB,,)0000000000000D0ODDOODOOO0OO
0000000000 43.0x107°0000

000000000000000000000000000000000000 7.20
oooo

00000 (1)00000000 (2)0000000000000 (3)0000000
0000000000000

'D0ooDoO0O00D0O0O000
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070 00000000000000000O00O00O0DOO0O0 «p"000

(1) 0000000007 A" 00000000000000000 200000000
()7~ =h (), 0 7~ =K 7%, 000000000000000(G) 77000
00000000000000000@G()0000000000000000000000
000007 —=h (na’)y, 0000 Aaf™ =009 x 10707 =K «’», 00000
000 Aef™=40.15x10"°00000()00000000000000000000
00000000000000000 Aaf™=+0.11x10""0000 0non-7"0000
0000000000000000000000000000000000000000

07270000000

0o Aaf™ x 1071
(0.50-1.80 GeV/c?)

oooooooo:

non-7 (ete” —qq) +0.11

feed-down h(nm")v +0.09

feed-down K~ n%v +0.15
ooooooogo +0.10
7’/y 00 +0.24
~0OOO +0.93
oooo:

70 [y +0.35

0000 < 0.10
oooo < 0.10
oooooo oo + 1.04

000000000000 e"0000 Aal™=4024x10"°000000 070
0000000000000000 £100MeVOOD0OO00 Aaj™ =40.93x 101000
0000

0000000002000000000e"000000000 +£1.0x107°000
0000

7.1.3 00000000000

Dod0e,"000D00OO0DODOOODOOOOOODOOOOODDOOOOO0
gooooooo

(1) O0DO0D0D0D0D00D0O0O00D0OO0O0D00O0D0O00O01000000010000030
boooooobboe,"000000000O00DODOODODOO0O0ODODOOO0
gbobogboboogon

81



070 000000000000000O000O00D00O00000 «p"000

(2) OO gbboobo2o000200102002000000000000000000 Oay”™
guobobogbouboboboon

(3) OO0 OoUOOUDODOU0OO0OCOCOO0U0CO0OCOO0ODOO0OUOODbODOOOOOoOo
gobgooooobbobboobobobooobboobbobboboboongd 25 em
ooooboooooboodb4em000 50 em000000000000 a,"
Dobooobooboodone,"0000bboooboooonnoobooo
gon

0 7.3: ;"000000000 (1)

ooooo oooo Aal™ = al™ — (ay)res
oooooo x1015(050 1.80 GeV/c?)
0010 +1.80 —1.06

oooo 10 +0.76 +0.73

oooo 3o +2.20 —-0.83

0 74: ;000000000 (2)

gOo:0000 goono Aa”—a“”—(au)ref
%100 (0.50°1.80 GeV/c2)
2000. 9 +2.78 —1.82
2001. 11 +2.11 —1.08
2001. 13 +1.67 0.35
2001. 15 1158 0.3
2002. 17 +1.73 0.38
2002. 19 +1.21 0.54

0 7.5:a;"000000000 (3)

00000000 Aal™ = al™ — (ay)res
000000000 (ecm) x1015(050 1.80 GeV/c?)
25 0
40 —0.41
50 —0.24

714 o000

0000 /s=0.50-1.80 GeV/c2 0000 o, 000000000000
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070 00000000000000000O00O00O0DOO0O0 «p"000

a;"[0.50, 1.80] = (464.4 + 0.6 (stat.) £ 1.0 (sys.) & 3.0 (sys. ext.) x 10,

0000000000000000200000030000000000000000
000000000oooon

ete -7t 0000000000000 O0OO0O0ODOOO0OOOOOOOOOOOO
00000000000 000000000000000000000000O00000
0000000000000000000000000000000000 pwd000
007 0A000000000000000000000000(~1.842.3)x10°1%
0000000000 0DO00 Ret DOoDODDDOO RetlOODDDODOODDOOO
0000000000 00000000a0

an™[0.50, 1.80] = (462.6 4 0.6 (stat.) + 3.2 (sys.) + 2.3 (isospin)) x 1070

0000000000000 0D20000000((COOO0OO 200)030000
gooooooooooboboobogo

oooooooooono oooooo Mooo ete- D0 B4oooooooooO
oooooo

a7"[0.50,1.80] = (464.0 & 3.0 (exp.) £ 2.3 (isospin)) x 10~ (7 : ALEPH, CLEO)
a7"[0.50,1.80] = (450.2 £ 4.9 (exp.) £ 1.6 (rad.)) x 107" (e*e” : CMD2,KLOE).

00000000000000000000 20000000000ete- 000000
200000000000000000OO

000000000000000000 (ALEPHOCLEO)DOOOOOOOOODOOO
O000Oete 00000000000 O0O0ODOOOOOOOOOOOO-O0000000

2r 00000000000 ete-—»atr- 0002r0000000000000000

gonoodoooonoooooogooodoogooooooooooogobooon
gogododoggonooooogoog
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U8t Uouunh

Bele DOOOODDOOOOODOOO0OO0O7r w77, 000000000 %0000
gooobooooboooboooboooobooooboobooooobooobooon
oobbbo2r00000000000 70000

00000000 0OBelledOO 20000 10000 20020 3000000000 72.2/fb
00000000000 77 000000 227x10°0000000005.55x%10%0
00—k 7y, 00000000000000000O00OOO0DOOO0O0 17000
good

00000000 7=h 7%y, 0 777 %, 00000000

B = (25.60 £ 0.04(stat.) £ 0.31(sys.))%
B.o = (25.15 £ 0.04(stat.) £ 0.31(sys.))%

gboboobobobooboogboboboboboboobbuouooubooouobooan

0000000000000 7°00000000000000000000 Breit-
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